50, will be treated as malpractice.

g blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 4248 -

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remainin
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Moﬁ"ﬁle 1 )

Explain: 1) Dot product 11) Cross pmduct iii) Unit Vect@: (05 Marks)
Given: A=2a, -3, ,B=3a, %’ﬁﬁ “and C=-2a, +6a, -4‘ “Show that C is perpendicular

to both AandB. o i = (05 Marks)

State and explaxw Coulomb’s law in éfécfé“r form. Write the unit of each term in the

express;ou "‘"““{ = (05 Marks)

Detennme “the electric field mtensﬂy at P(2, 0, 2)mt due to three standard charge

g—nc/ m?, another sheet charge at
= 3T

dlstmbumons A uniform sheet clfarg% at X = Imt and p&

X = 4mt with p; = 31 =C fm®.An infinite 1 -’ ”"@mﬁ‘ge at x = mnd y = 0 mt with
%Wﬁ

ps = 2nc/mt. take € = @';0 m@ b o (06 Marks)

(05 Marks)

Show tha% the energy requxred~ = —I—Z QiVi.

% z (06 Marks)
leen potentlai v = 3x7s Z(Ly2 volts. Fmd the energy stored in a volume defined by
V_:0_<X<Imt 0<y<lmt£)<z<2mt (05Marks)

(05 Marks)

Find the total current passmg through the surface at ¢ = constant, 0.1 < r < 0.2mt,
0<z<lmt Given J = 5r a¢A/m (05 Marks)
Discuss the boundary.conditions between two different dielectric materials. (06 Marks)

Find the capacitanice of a capacitor consisting of two parallel plates 30cm x 30cm surface

area separated”ﬁy;fimm in air medium. What is the total energy stored if capacitor is charged
(05 Marks)
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Module-3
State and explain Biot — Savart law. - - (05 Marks)
Calculate the magnetic field intensity at P(1.5, 2 ’fjﬁlt caused by current filament of

24Amps flowing in the a,direction along 2 s extending from )z=61t 2=ow

i) 2 =—0 to 2 =+, " (05 Marks)
(06 Marks)

Semi infinite conducting planes z at di: 0 and ¢ = n/6 are scparated by an insulating gap.
IfV=0at¢=0and V= 100vo_lts at ¢ = n/6. Find the e}eetff”c‘” potential and electric ficld

intensity in the region between plates. (07 Marks)
Using Laplace equation de\fefég@an expression for capacmance of parallel plate capacitor.
¥ e (06 Marks)

Find whether or not tixgrpﬁféntlal V=2x"-4y+ 2?‘%@ satisfy the Laplace equation. (03 Marks)

' Modtsle—4
Derive an express:ron for force between mo doop current circuits. (08 Marks)

A currenf%lcfnent I dfll =163, Am s 1ocated at Pi(l 0, 0)mt. While another current

magnetic materials, e f’ e (06 Marks)
Find the mduefanéue of a solenoid haV;a;g“Scm length, 2crmin radlus wound with 900 turns
and pr = 100. = _ ¢ (04 Marks)

(06 Marks)

(08 Marks)

(08 Marks)

V OR

Prove that, the mtrinsic urif}edance of a free space dialectic is 377Q2. (08 Marks)
Find the frequency at: whléh the conduction current density and the displacement current
density are equal in a g_rmedlum with 6=2x1070/mt and €,=81. (04 Marks)
Define skin depthand derive an expression for it. (04 Marks)
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